MAP 4175 /5177 Name: K E \/

Quiz 4 Date: September 23, 2015

Each problem is worth 10 points. Show all work for full credit, and use correct notation.

Simplify answers completely. See other side for additional problems.

. Using ILT mortality, determine each of the following:
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(b) 1 gp72- using the CF assumption
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. Given lgy = 1000, and pgo = .8, and ,pgy = .45 determine each of the following:
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(a) lgg 45 using the UDD assumption
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(b) lg; 5 using the CF assumption

£ (g (409 - J e = €00

01659
S Fro



3. Given g;9 = 0.0104 and q,, = 0.0117 determine ,,g,4 ¢ using the CF assumption.
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4. Given qgg4r = .14 .05k, for k=0 and 1, determine 1.30.780 using the CF assumption.
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5. Given yqgo = .1(k + 1), for k=0 and 1, determine 0.2/0.5990.5 using the UDD
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